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LABOUR WELFARE AND INDUSTRIAL RELATIONS/
LABOUR AND SOCIAL WELFARE/ HUMAN RESOURCE MANAGEMENT

PAPER —1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Process of planning begins with :
(A) Forecasting (B) Setting objectives
(C) Setting policies (D) Setting procedures
2.  Coordination means :
(A) Harmonizing of objectives (B) Dual Subordination
(C) Both (A) and (B) (D) None of the above
3.  Grapevine is :
(A) Officially created (B) Formal method of information
(C) Informal communication (D) None of the above
4.  The main advantage of functional organisation is :
(A) Simplicity (B) Hierarchical level
(C) Experience (D) None of the above
5.  Match List I with List II and select the correct answers using the code given below :
List I List II
(a) Henry Fayol (i)  Scientific Management
(b)  Elton Mayo (i) Human Relations
(c) Peter Deucker (iii) Espirits de corps
(d) F.W. Taylor (iv) M.B.O.
Code :
(A) a-iii,b-ii,c-iv,d -1 (B) a-ii, b-i,c-iii, d-iv
(C) a-i b-ii, c-iv, d-iii (D) a-iv,b-iii,c-ii, d-i
6.  Which of the following is correct sequence in the development of employee selection
test ?

(A) Reliability, validity, test norms  (B) Test norms, reliability, validity
(C) Reliability, test norms, validity =~ (D) Test norms, validity, reliability

7. Which one is the appropriate sequence in recruitment and selection process ?
(A) Recruitment, Job analysis, Manpower planning
(B) Manpower planning, Job analysis, Recruitment
(C) Manpower planning, Recruitment, Job analysis
(D) Job analysis, Manpower planning, Recruitment
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9 HeATUT T AT Twarer / 979 Te HHIS hed 10T / WIFa HETET Jaee

TIAuT—11
A : U YIS | U= (50) Sg-forehed ™ 9o €1 Uedish U9 o oY (2) 3k &1 |eft yeHi o S
difsta
1. T7oem =t ufpen f= & oy ges 2t ©
(A) YaTEH (B) =¥l ol TG Tl
(C) Hifat skt Tenfud e (D) faferEi =1 Tty e
2.  HHAGT H AT T :
(A) el H S w1 (B) <r&dl sefieerar
(C) (A) 3R (B) T (D) ST® # | HIE Tl
3. SieaIE
(A) At dr § fafifa (B) = i 3irq=nfien gomett
(C)  HIv=feh Fewor (D) W% Y HE Tl
4. YHMEHS TS H &I A E :
(A) S (B) guflag &R
(C) 13%d (D) SWIH HYHE T
5. I g 1§ fHamsd aun e e gr 9@ SW A g
Tl I T I
(a) T wETA () AR geE
(b) TeeA TAl (i) HEHT Hoiy
(c) X gt (iii) ‘TEAReT SR’
(d) Th =Y, R (iv) S¥d W fagra (TEeta)
HIS :
(A) a-iii, b-ii,c-iv,d-i (B) a-ii,b-i,c-iii, d-iv
(C©) a-i b-ii,c-iv, d-iii (D) a-iv,b-iii, c-ii, d-1i

6. HUTRI T WIeyor o T |, f=1 & & i |1 STHH 9e § 2
(A)  fovaeiaar, dud, Thew AFE (B) T AHQUE, favasHiaa, v
(C) Tovaatar, wder AHeue, dgal (D) WIS HMQUS, I, fovad e

7. ot U@ =IE gtRAH, T H @ S STHA U § 2
(A) wdl, e ooy, AFa wfe e
(B) HMa wIfe fairsH, el fogerwor, sy
(C) wHa wIfh s, widl, e fageryon
(D) wr forerer, A wfd FarsE, st
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10.

11.

12.

13.

14.

15.

16.

Which one is not a performance appraisal error arising from rater ?
(A) Halo error (B) Content error

(C) Contrast error (D) Recency error

Employee stock option plan aims at :
(A) Only as an incentive to employee
(B) Only for employee retention

(C) Both (A) and (B)

(D) None of the above

Job - analysis includes :
(A) Job description (B) Job specification
(C) Both (A) and (B) (D) Job evaluation

Which of the following techniques may be used for management development ?
(A) Planned progression (B) Creation of “Assistants to’ position
(C) Sensitivity training (D) All the above

Which of the following are the sub systems of HRD ?
(A) Training (B) Performance appraisal

(C) Career development and counselling (D) All the above

Performance appraisal helps in :
(A) Training (B) Career planning
(C) Promotion (D) All the above

Who introduced the concept of M B O ?
(A) Mary Parker Foilet (B) Keith Davice
(C) Peter Drucker (D) F.W. Taylor

The concept of quality circle is a brain child of :
(A) Ishikawa Japanese engineer

(B) Munchu, H.R.M. Expert

(C) Peter Drucker

(D) Japanese union for scientists and engineers

Elton Mayo’s study concludes that employee productivity is more related to :
(A) Work itself (B) Reward system

(C) Working conditions (D) Social Relations at work place

D —5504 4



10.

11.

12.

13.

14.

15.

16.
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(A) gftreror (B) Sited gfa faarsm
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17.

18.

19.

20.

21.

22.

23.

24.

Which of the following is hygiene factor ?
(A) Advancement (B) Growth
(C) Job Security (D) Achievement

Which is the correct sequence in Maslow’s need hierarchy theory ?
(A) Security, Affiliation, Esteem (B) Affiliation, Security, Esteem

(C) Security, Esteem, Affiliation (D) None of the above are correct

Which of the following theories was propounded by McChelland ?
(A) Achievement motivation (B) Need hierarchy
(C) Two factor theory (D) ERG theory

Organisational Effectiveness is :
(A) Input - Output ratio (B) Target achievement
(C) Doing right things (D) Doing things right

Who said “Industrial Societies necessarily create industrial relations defined as complex
of interrelations among workers, managers and governments” :

(A) John T. Dunlop (B) P.H. Casselman
(C©) ILL.O. (D) None of the above

Which of the following is not a machinery for settlement of industrial disputes in
India ?

(A) Indian Labour Conference and Standing Labour Committee
(B) Conciliation officers

(C) Labour Court

(D) National Tribunal

The Scheme of Workers” Participation in Management as provided under the 20 point
programme, 1975 did not provide for :

(A) Shop Councils (B)  Unit Councils
(C) Joint Councils (D) None of the above

Which of the following is not a tripartite body as created in 1942 :
(A) Indian Labour Conference

(B) Standing Labour Committee

(C) Tripartite Implementation and Evaluation Committee

(D) None of the above



17.

18.

19.

20.

21.

22,

23.

24.
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25.

26.

27.

28.

29.

30.

31.

Fill up the blanks from one of the suitable words given in the bracket “Select the correct
combination”:

(i) Award, (i) Bi - partite Body, (iii) Tripartite Body, (iv) Check off,
(v)Deduction, (vi) International Federation, (vii) Settlement, (viii) Consultative body
(a) The decision of Labour Court is called

(b) Canteen Committee is a

() Deduction of union membership fee is called

(d ILLO.isa

(A) (i), (v), (vi), (vii) (B)  (viil), (iv), (i), ()

(©) @), ), (iv), (i) (D) (i), (v), (vii), (i)

As per the Trade Unions Act, 1926, the proportion of outsiders as office bearers of
registered trade union is :

(A) Up to 25% (B) Up to 50%
(C) More than 50% (D) No mention in the Trade Union Act, 1926

Union Security is related with :
(A) Union democracy (B) Industrial democracy
(C) Living wage (D) Union shop and closed shop

Union office bearer of a registered union may be :

(A) Protected workman under the ID Act, 1947

(B) Protected workman under the Trade Unions Act, 1926

(C) Protected employee under the Industrial Employment (Standing Orders) Act, 1946
(D) None of the above

Bonus is calculated from :
(A) Gross profits (B) Available surplus
(C) Allocable surplus (D) None of the above

Which one of the following Federations was organised in 1920 :
(A) INTUC (B) AITUC
(C) dTu (D) HMS

Which one of the following is not an industrial relations legislation :
(A) 1D Act, 1947

(B) Minimum Wages Act, 1948
(C) Trade Union Act, 1926
(D) Industrial Employment (Standing Orders) Act, 1946

D —5504 8



25.

26.

27.

28.

29.

30.

31.

sfere # fod Tu wsdi g1 s Tl a0t gfd Rt oI Tt vkl ot gie fSod g w e1ef v
Bl
(i) erfafora, (i) fgdefa S, (iti) Toraefra g, (iv) = 3T,

(v) herdl, (vi) ST HEWM, (vii) THSI, (viii) RIS Heer
(a) 99 =EEa & o e Sl S |

(b) H FHA TH gl

(c) TSI 99 §9 i TGEIA Yook hl FHerdl hl ExAS IS

(d) °E. T 3. T TH |
(A) (i), (v), (vi), (viii) (B)  (viid), (iv), (ii), (i)
(© (), (i), (iv), (iii) (D) (i), (v), (vii), (i)

g9 Fo AU 1926 % STTER USfiehd TSI Wl o qeIfYehiial # el Aded sl STar

(B) 50 faerd dh
50 gfaerd § sifaeh
39 oy ¥ g1 T Ifuftag 1926 ¥ Fo off T Fwr T ®

g9 g9 ey, =1 °§ 9 fhed geifa 22

(A)  FIEE SIS (B) AR USimA
(C) faa frafe Asigh (D) I WY qe Fdlse 3ma
Yefighd 9| Gl o TSIHRI B €

(A) Gfea s, it foare sifafrem 1947 & etwaia
(B) GRferd eI, WG §9 Afufem, 1926 & ST=wid
(
(

C) YU e Sienfiter FisH (Tumht eew) sifafTam, 1946 & ST=id
D) SWG § 9§ HIE T

S 1 faior 2 €

(A) F Al gr (B) TUTiod WX<Td

(C) TaThad HTH (D) SWI® HHHE Ta
frafafed § @ oF o HFewE 1920 ¥ wfed g of -

(A) T& (3B T A g, Hh) (B) W (T &:. 3. 7, ©h)
(C) Hig (. 31m:. 3. 7,) (D) TH. WH. TH

frfafea & @ FiF @ eifufm, ienfres gy sifufag = €2
(A) sirnfien faare sifufem, 1947

(B) =IAaH Hsigd sifufTad, 1948

(C) g9 ¥y AfufTaH, 1926

(D) oiEnfies frem (zomdt eew) sifufm, 1946
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32. Put the following in the right sequence as stated in I.D. Act, 1947.

a)

o
N~

C

£

A)

(
(
(
(
(
(©

Enquiry Report

Award

Memorandum of settlement

Penalties

(©), (@), (b), (d) B) (@), (b), (9) (d)
(b), (), (d), (c) (D) (d), (¢), (b), (a)

33. Which of the following is not a principle of labour legislation :

(A)
(©

Principle of social justice (B) Principle of natural justice

Principle of international uniformity = (D) Principle of national justice

34. Young persons under the Factories Act, 1948 :

(A)
(B)

(©
(D)

Cannot be employed at all on dangerous machines

Can be employed if given full instruction or sufficient training or under the
adequate supervision of knowedgeable and experienced person

Can be employed

None of the above

35. Conditions of service of the workmen remain unchanged :

(A)

during pendency of industrial dispute before conciliations, labour court and
tribunals

during pendency of industrial dispute before conciliation, arbitration and
adjudication

during pendency of industrial dispute before conciliation, arbitration and
adjudication unless written permission is obtained by the employer

can be changed by the employer on his own will at any time

36. Arrange the following in right sequence :

Payment of Wages Act

Trade Disputes Act

Second Factories Act

Workmen’s Compensation Act

(@), (b), (©), (d) B  © (@, b), @
(@, (), (b), (a) D) (@), (), @) (b)



32.

33.

34.

35.

36.

gfmﬁaﬁafaﬁwwyé? a1 eE | W@ e, Frefatea # st sy
(a) = o

(b) sifufug

(c) TSI T FIAH

(d) FAM

(A) (), (@), (b), (d) (B) (@), (b), (0), (d)
(©) (b) (@), (d), (c) (D) (d), (0), (b), (a)

= o @ =F gm faum o fage T2 %2
(A) GRS = o faga (B) “wrfter = 1 faga
(C) <RI T =l g (D) T =/ w1 fag

FHREM AT 1948 o =T, 9T AGA hl
(A) TR W R foega ot fgw =1 foran s wehan

(B) 3= asft Fryh foran S wera w1@ 3% ot wfneqor < < € &1 den 39 Ui ¥ | SHHR T
ST AT & Tae § @ T B

(C) T foran < Tk ®
(D) SRIG HAHE T2

FHHANE! I G A STARATId @l © :
(A) 3fe e faae gotg, 91 =erd stean feeTa o guer 9t T & iR aftea &t
(B) Afc =% foare, Yare, T=ma steren sifufoiad # afiem &

(C) afe I faare, gere, d=maa 1@ AU # =7 T 21 IR AifeTes o gN fafed €9
Y orgafa & ot T &

(D) o Y feordt Mifersh o GRT STeh! 3991 % ST9AR Heft oft SIeell < Tkl &

frfeafaa sufrmt # w8 o § srafad FHi |

a) TSI YA sttt

b) = fergzd wx

o) feda wrEm sfufrm (dws Fes @)

d) wHR &fagfd stfufm

A) (@), (b), (9), (d) (B)  (9) (d), (b), (a)

(
(
(
(
( )

(©  (d) (9, (b), (a) (D) (d), (o) (a), (b)
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37.

38.

39.

40.

41.

42.

43.

Match the following

(@) ILO (i) USSR

(b) Karl Marx (i) Geneva

(c) Award (iii) Conciliation

(d) Settlement (iv) Arbitration

(&) @ - @) (b)- (i), ©- @), (-G  (B) (a)-v) (b)- (i) © - (i), () - ()
© @ - (), 0)- () ©-Gv), (d)- () (D) (&) - (i) (b) - (), (© - (i), (d) - ()

Advisory committee under the Equal Remuneration Act, 1976 shall consists of :
(A) 10 persons of which one - third shall be women

(B) 10 persons of which one half shall be women

(C) Not less than 10 persons of which one half shall be women

(D) None of the above

Which of the following is true ?

(A) Labour officer is appointed under section 49 of the Factories Act, 1948
(B) Welfare officer is appointed under section 49 of the Factories Act, 1948
(C) Safety officer is appointed only if the workers are more than 1000

(D) None of the above is true

The provision regarding recognition of trade union in India is given under :
(A) ID Act, 1947 (B) Trade Union Act, 1926
(C) Code of Discipline in Industry (D) Inter - union code of conduct

Which of the following is not included under intra-mural labour welfare facilities :
(A) Latrines and Urinals (B) Washing Facilities
(C) Creches (D) Housing Facilities

Classification of labour welfare facilities under (a) Extra-mural and (b) Intra-mural
was done by :

(A) LL.O.

(B) The Study Group constituted by the Govt. of India in 1959
(C) Indian Labour Conference

(D) National Commission on Labour, 1969

Which of the following cannot be regarded as an organisation in the field of Labour
Welfare :

(A) Central Board of Workers” Education
(B) Consumer Courts

(C) Workmen’s compensation commissioner
(D) Employees” State Insurance Corporation
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37.

38.

39.

40.

41.

42.

43.

ﬁmaﬁﬁa@:

(a) TE. T M. () ¥ TE T IR

(b) TSI HIRH (i) SHar

(c) srfufoi (i) GoT

(d) Tl (iv) 9=

(A)  (a) - (i), (b) - (iii), (c) - (iv), (d) - (ii) (B)  (a) - (iv), (b) - (ii), (c) - (iii), (d) - (i)
Q) (a) - (i), (b) - (i), (c) - (iv), (d) - (iii) (D) (a) - (iii), (b) - (iv), (c) - (ii), (d) - (i)

waH gRgfhe stfafa 1976 & T=id HelgsR GiHfd i sHee 39 Jhr B -
(A) weEER wffd # 10 vee 3 o v foer afeand 2

(B) 10 W=l H seft wewrn wfeerstt 1 2l

(C) H | A 10 T B S ameft wfremd <t

(D) ST H FHE TA & ©

1 & ¥ 39 W FA TA 22

(A) o\ Tt ot fgfe sramn sfufad 1948 i oIRT 49 &% 1=l < T §
(B) hedTol TIHehil i e wR@m sifufm, 1946 910 49 & ST=Iid i Sl §
(C) TRan yeIfepit st fgf aeft st SIErft St& gffehi vt @ 1000 9 31f¥es &

(D) SRIG | Y hE Tl

TSI it Rl A=A & Goil B 9Ra | frefafad § 9 fmg s | waee fee T 2
(A) oiEnfies faare sifufm 1947 (B) gwEE fufad, 1926

(C)  oTFeme Hfgam (D) =R e

frefafea o 9 ford gfagm o ofidt & seamn s § giwfed &) foaan smar g2
(A) =T TE e (B) M &t gfaen

©) FTE (D) ETE &t graen

g9 e giaensti s SE (a) YA8E & de a°n (b) WasE & o], St afvrei |,
fr=rfarfaa o 9 foraes gru foham = en?

(A) 3T T,

(B) WRd TR gN Fgw® 1959 1 9° AT w1 & fou s1ee=d g

(Q) YRd™ 99 e

(D) T 99 AN 1969

o

freferfaa O & R0 g9-Theamor § Heifea Tee & Tel < Hehdl 8 2
(A) gt frego o< dre

(B) SUMIREI =T
©
(D)

FHRR eafeqafd HEFR (1)
T ShH=r oA e
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44.

45.

46.

47.

48.

49.

50.

A factory employing 1000 workers has provided a canteen as required under the
Factories Act, 1948. The recognised union in the factory demands a “Shelter, Rest
Room and Lunch Room” in addition to canteen. The demand of the union is :

(A) Legal
B) Illegal
The Factories Act, 1948 is silent on this point

)
D) If the employer has provided a canteen, it meets the requirement of “Shelter, Rest
room and Lunch room”.

Choose the appropriate answer from the option given below :

In India, Labour Welfare work of trade unions is

(A) Not developed at all (B) Developed to some extent
(C) Fully developed (D) Highly developed

The Equal Remuneration Act, 1976, aims to do away with which of the following types
of wage differential :

(A) Occupational wage - differential (B) Industrial Wage Differential
(C) Wage Differential on the basis of sex (D) Geographical Wage Differential

Which of the following requirements of a Perfect Market are not found in the Labour
Market :

(A) Large number of buyers and sellers (B) Same price
(C) Same quality (D) None of the above

If money wages are fixed or constant, which of the following situation will be
applicable :

(A) Real wages may also be constant (B) Real wages may fall
(C) Real wages may rise (D) All the above

Who among the following was the chairman of the Second National Commission on
Labour :

(A) Dr. P.B. Gajendragadkar (B) Dr. Ravindra Verma
(C) Dr. Satya Narayan Jatia (D) Justice P.N. Bhagwati

Voluntary Retirement Scheme (VRS) is introduced to get rid off :

(A) Inefficient employees (B) Surplus employees
(C) Problematic employees (D) None of the above
-00o0-

D —5504 14



44.

45.
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47.
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50.

T wREH H, Sl 1000 9fH% w10 Fd ¥, T87 wREr Afuf=m 1948 & 3T=wid Aifeis &

BRI h=2 ! Yo S i T8 ¥ 1 39 HRE@M 1 WAl UH AfHh T, Hhiq & T Th

3y, fagm-er X disH-e &l off 71 @R

Tl 9T G € A/ ;

(A) LA

(B) TRehTIAI

(C) = fowa W wrREm fufag 1948 B §

(D) & AfeTeh < GRT RGN | ST heiA i iasl UM o T 71, a1 3§ 39 Tfufwm &
31, STIF A1 3NFT Hel qAT WIS Hel o ®I | THT S Fohell ©

= o T foedt & & Sfaa faskew <4 -

qRA §, 99 G o g1 foman STl 99 e s T
(A) Toepa & faesfad =2t (B) F® B dh foehidd
(C) i &9 ¥ fanfaa (D) s &9 4 fawfaa

waH uigfies stfuftam 1976, Frafafead o 9 frg ol fisran st T4 w1 &1 3239 Tl
2?7

(A) EHIEE A o (B) ATt Ay foeran

(C) o w smeniRa Tt fomra (D) siFiiferer Asigd far

ot oeR Y, Frefafed 8 9 wF o faevand, g9 SR § 96 S €2
(A) ha1 Td fashareii i IR §@ (B)  Ueh o6l Hod (WHM o)
(C) Tk 51 O (D) WG # 9 HIE T

Ffg g1 Asigdt Feer 2 1 39 feufa & amafaes wsigd ot feufa frafafea & @ w4 € grf 2
(A) aredfos Aegy ot feR W Uwdt € (B)  arafos WGy TS TRl §
(C) dTfosh Heigdl 1€ Tahdl § (D) SWrH At

frefafed # 9 o i T 99 o= & ereag 92
(A) SR UL o TSIt (B) SRR A= =i
(C) SR FIARME Sfaa (D) —=arEfd e, et

wWfezs Ja1 frgfa dem, fFefafed § 9 fha yer & =afed § 9 geen T & fag arp
fopan ST ©°2

(A) AFIA FHHAR (B) offus wH=T
(C) THHHE HHAR (D) SWI® H ¥ HE e
-00o0-
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